g s |
= g I 1
S o 107
% [S) E +
1072
107 o
9 X 9100%- 111
T r T r
04 r 04 r
1_— ----- EeY T 1_— ----- EeY s A
0.95 '71 . ' . . 0.95 '71 : ; . ,
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamlinélf)

—s=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
—— DQM_V0001_R000000001__Global__mkFit-cand__RECO

= =~ 1
2 -
5 o
5 S
107"
. 0100l bbbl s sl o2
: 5 f : : :
: 14 [ :
1_— ----- Fey 0 ------------
107 1 10 0> . 10° ot 1 10 0> . 10°
TPp, (PCA t]b beamllné‘f) TPp, (PCA t]b beamllng'f)

o p/p.)

—1 ; I : 2 3
10 1 TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


